Circles

Identify the center and radius of each. Then sketch the graph.
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Use the information provided to write the standard form equation of each circle.
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Use the information provided to write the general conic form equation of each circle.
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AN Pre-Caleulius Worksheet

Conle Sectlong - ELLLpses

L Find the requested information for each ellipse. Graph COMPLETELY.
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Center: (__ 0O 0 )
Major Axis Endpoints: (“&¢ , O Yad(_L , O )
Minor Axis Endpoints: (__ 0 , ! Jand (__ O , - 4 )
Foc (_2V5 , ©  Yad( -2v5 , O )
Eccentricity = _9 4g
x=7cosT
2 .
y=8sinT
Center: ( , )
Major Axis Endpoints: ( , ) and ( , )
Minor Axis Endpoints: ( , ) and ( , )
Foci: ( , ) and ( , )
Eccentricity =
Standard Form of the Ellipse:
3. 16x* +9y* =144
Center: ( , )
Major Axis Endpoints: ( , ) and ( , )
Minor Axis Endpoints: ( , ) and ( , )
Foci: ( , ) and ( , )
Eccentricity =
Parametric Form of the Ellipse:
X = and y =
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Center: (_Z , 3 ) c=\7
Major Axis Endpoints: (:*_,Z___,_i) and (_G , 3 )
Minor Axis Endpoints: (_ 2 , C ) and (_ 2., [ )
Focii (2~41 , 3 Jand (2¥V7 . 3 )

Eccentricity ~ _ o (ola[

- x=2cosT -3 |
C y=4sinT+5

Center: (

S )

Major Axis Endpoints: (

Minor Axis Endpoints: (
Focii ( , ) and (

Eccentricity =
Standard Form of the Ellipse:

6. x2+9y2+4x+18y+420 ,
X4 Ux *qPLH%‘ =4
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Standard Form of The E!hpse f
(K*’ 2)* ;} )
Center: ( -2 , =1 )
Major Axis Endpoints: (—J5 , ~-] ) and ( ,
Minor Axis Endpoints: ( — 2
Foci: (=2 ~2y2, -\
Eccentricity ~ go‘ "i:b
Parametric Form of the Ellipse:

X = and y=




II. Write the equation of each ellipse in The requested form.

7. Foci (£4,0); length of the major axis is 12;

parametric form

8. Foci (1,7) and (1,—3),‘ length of the minor axis

is 8; standard form oA
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9. Foci (2,5) and (2,1),‘ Sum of the focal radii is
2\/E; standard form

10. Major Axis Endpoints (—16,4) and (4,4);
Minor Axis Endpoints (—6,—4) and (—6,12);

porame o™ C(-b,)
2h = b

b=©

=10 =€
42 = 100 b= b

11. Sum of the focal radii is 18; Minor Axis
Endpoints (O,i6\/§) : standard form

12. One Major Axis Endpoint (~7,—9); center

(=7,6); one foci (—7,15); parametete form
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13. in standard form

10

14. in parametric form
R 3 -
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